Suma oe Corazores (F)

GULO
‘aouvo , = 157

8+

(

81 4+  auero , = 114

(

&9 + SUDOKU | — 131
27 + PAl‘zIII\?.‘l\sLA =42

(

1T+ e =96

¢

35 4+ M =127

(

.Cual es el valor de cada corazén?

00 + ‘EUCLIDES =97
N

32 + cucoL | — K[

75 4 | 112388 =103

(

H8& + Dle?nz - =156

(

22 + f:‘l\mg::l;-o- - 94
N’
88 + C%UNEN'I‘I.I(-E‘:) =110

(

36 +  wmewre , = 104

&9 -4 eembas | — 1()9

01 4 M =130
o

26 + | claorao, = 101

&

ENTERO

POSITIVO j —

11+ 88

25 + &2t =120

&

Ahora calcule las siguientes respuestas:

| PEMDAS | | EUCLIDES

. /

ANGULO
_ AGUDO +

N

XXO0 |
XXo f

g
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Suma oe Corazores (F) Respuestas

78 +  fasume = 157

X

81 4+  auero , = 114

(

89 + | sweokw | — 131

X

27 + PAl‘zIII\?.‘l\sLA =42

sa(

71 + xwo  — 96

¢

2

(@x

35 4+ M =127

«

00 -+ EucLDES  — 97

W
=J

32 + cucoL | — K[

«

75 4+ mz2ss . — 103

(

H8& + Dlefnz - =156

(

98
22 + cﬁﬂg::l;-o- - 94
g
72

88 + C%UNEI\:I‘I.I(-E‘:) =110

(

22

.Cual es el valor de cada corazén?

36 +  mente = 104
68

&9 -4 eembas | — 1()9
20

04 + meus =130

N

30

26 + coapravo, = 101

&

75
11+ e _ g
77
25 +  'EST =120
&

95

Ahora calcule las siguientes respuestas:

| PEMDAS | | eucubes _— L)/
v
loupe |, + e , = 104

W
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